oI = 9ot AZH/2E
Hloj(Tcs) 24!

TCS SAI2 HaF(HE|Z|otet 22 2E 7Y 0|d=)e] dF=
97| I*H AlZtat 2= Mo{7F Bt
TCS S22 41°F(5°C) O[5t 2 XA 22 EE= 135°F(57°C) O| 2 = LA HESHYA 2.

@) TCS &) HI-TCS

7], X A7], s ibE, H, AN (R, AS

)y O Ly

%)

min

)

7, 971_, K=, 218 HE|, 21 38, A28, AR, XL 7HS e M2 &2 AR(M=SE 718
[Hx-" LI I-)

@ R M ML MFE A U AR 1 27| HZHE A2 Az

42 QYU 2, AZX), o222 1Y), o8l Tl 9 M, et o) SR, <tz Mg
2752, 8), 42 wElsu, siLIS, AR E), WS S0iE, ML, BUE), o8 BE(3E, 4,
TYAEY, 2, H6E, 7|S0] H3 AN Ot

X slg(MAERZ maz|, BIE), XI2X| 22 M A2 ofEItE, KHE 2|2 /2lY, /2t 3t Exa

S5 v HA| 20| OpEILICH B I BB 20| 2et MEYH S X|AS GEAAL,
Health

EEEEEEEEEEEEEEEEEEEEE 7/11/23




